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Match #8 (Tournament)


These questions are for use in the Virginia High School League’s Scholastic Bowl District Tournament  competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
In January 1992, it engaged in a one-hour strike, and in September 1992, it engaged in a two-hour strike. This was notable, as the strikes were directed against its country’s President, who two years earlier had been president of this organization. In 1981, a year after it waged a much larger strike, martial law was declared by Wojciech (voy-tsee-ayk) Jaruzelski. It was founded in September 1980 at the Gdansk shipyards. Lech Walesa was the first leader of what Polish trade union? 

ANSWER: Solidarity
2.
Research on it yielded the 1967 Nobel Prize in Physiology or Medicine.  About 22 millimeters in diameter, it is made up of ten layers including the fiber layer of Henle, the inner nuclear layer, the ganglion cell layer, and the photoreceptor layer.  Name this inner layer of the eye affected by macular degeneration that contains rods and cones.

ANSWER: retina (prompt on eye)

3.
This team experienced the ‘Darkness with Harkness’ in the early 1970s. Three things presaged a turnaround. It was bought in 1980 by Mike Ilitch. In 1983, it drafted Steve Yzerman. In 1980, after four decades in Olympia Stadium that saw the throwing of thousands of octopuses, it moved to Joe Louis Arena. Four league championships in the past eleven years have seen a return to the glory years of the 1950s under Gordie Howe and the ‘Production Line.’ What is this team, the holders of the Stanley Cup? 

ANSWER: Detroit Red Wings
4.
He wrote children’s novels such as The White Deer, The Wonderful O, and The 13 Clocks. He wrote a hit Broadway comedy, The Male Animal, and appeared on stage as himself in a ‘Carnival’ named for him. His first work was a spoof of Freudean manuals called Is Sex Necessary? Although nearly blind, he drew hundreds of cartoons for The New Yorker. ‘The Middle Aged Man on the Flying Trapeeze’ and ‘If Grant Had Been Drinking at Appomattox’ were humorous short stories by what creator of Walter Mitty? 

ANSWER: James Thurber
5.
THIS IS A 10-SECOND COMPUTATION QUESTION.  Eleven pi over nine radians is equal to how many degrees, given that pi radians equals 180 degrees?

ANSWER: 220 degrees
6.
A mark called the ogonek (aw-GAW-nek) appears below the ‘a’ and ‘e’ in this language and resembles the French cedilla. It also contains a letter called ‘L with stroke.’ It doesn’t contain the letters ‘Q,’ ‘V,’ or ‘X,’ but is one of the few European languages to contain ‘W.’ Dialects include Mazovian and Silesian are spoken by its 45 million speakers, while its Podhale dialect resembles Czech. What language, the most spoken West Slavic language, is used in Krakow and Warsaw? 

ANSWER: Polish
7.
With a thesis called ‘In Search of the Impartial Juror,’ she graduated from the London School of Economics in 2005. She also hosted Mr. Personality in 2003. She graduated from Lewis & Clark College in 1995, and started work at the Pentagon in April 1996. Before that she had been a low-level worker, and before that, an unpaid intern. Who said, ‘I hate Linda Tripp’ and was the topic of the catch phrase, ‘I did not have sexual relations with that woman’? 
ANSWER: Monica Lewinsky
8.
In 2003, this organization was the recipient of the largest-ever monetary gift to a cultural organization.  Among programs produced by this network are an interview prgram hosted by Terry Gross, and news shows featuring personalities like Daniel Schorr and Carl Kasell (KAS-ill), and member stations are also known for airing programs like "This American Life" and "Prairie Home Companion." Name this radio network, noted for being supported by listeners like you.


ANSWER: National Public Radio or NPR
9.
If this section of the atmosphere is below 220 Dobson units in thickness, it has a hole. The Montreal Protocol was designed to protect it by outlawing CFCs. What layer of the Earth’s atmosphere absorbs ultraviolet light and has oxygen molecules with three atoms? 


ANSWER: ozone layer
10.
Its widespread adoption began with its inclusion on the Altair 8800, and by the late 1970s, was included on the BBC’s Sinclair, the TRS-80 (spell out TRS), and the Commodore PET. It was developed at Dartmouth in 1964 by John Kemeny and Thomas Kurtz, and was intended for use by non-scientists. Its ‘revival’ of the past decade was due to Microsoft-developed and object-oriented dialects such as Visual. Present on any home computer in the 1980s was what programming language? 

ANSWER: BASIC or Beginner’s All-Purpose Symbolic Instruction Code
11.
Its capstone was a 100-ounce piece of aluminum, placed on December 6, 1884; until 1889, it was the tallest building in the world. In 1854, a block of marble donated by Pius IX was stolen from it, leading to construction being delayed for two decades. This made the upper two-thirds of its 555 feet and 5 and 1/8 inches a slightly different color. The Lincoln Memorial’s Reflecting Pool also reflects what building, an obelisk in the nation’s capital? 

ANSWER: the Washington Monument
12.
They typically last for a week and are produced by budding off from megakaryocytes.  They are affected by Gaucher’s disease, dengue, Bernard-Soulier syndrome, Scott’s syndrome, and hemophilia.  Name this type of blood cell also known as thrombocytes that is responsible for clotting.

ANSWER: platelet (accept thrombocyte before mentioned)

13.
The ‘Infinite Corridor’ connects this university’s east and west campuses. Its Building #10, which contains the iconic ‘Great Dome,’ has been the site of pranks including putting a police car on top of the dome. This school’s ring is called the ‘Brass Rat’ and is worn ‘beaver down’ until graduation. Susas Hockfield is its first female president, and its most famous faculty member is Noam Chomsky. What university in Cambridge, Massachusetts, is famous for its scientific research? 

ANSWER: Massachusetts Institute of Technology or MIT
14.
While a law clerk, William Rehnquist wrote a memo defending the decision in this case. Albion Tourgee, the lead laywer filing this case, deliberately selected a plaintiff that was one-eighth black. John Marshall Harlan was the only dissenter, predicting that it would become as infamous as the Dred Scott decision. The Supreme Court held the Constitutionality of Louisiana’s Separate Car Act in what 1896 decision that gave us the phrase ‘separate but equal’? 
ANSWER: Plessy v. Ferguson
15.
His real-life inspiration was probably a former dean of Christ Church Cathedral who had to take a circuitous route to get to services. His possessions include a bottle labeled ‘DRINK ME’ and some cake labeled ‘EAT ME.’ He has a gardener, Bill the Lizard, and gets annoyed when a girl grows to fill up his entire house. He is first seen carrying a watch and complaining about being late, and is a herald in the service of the King and Queen of Hearts. Who is this character in Alice’s Adventures inWonderland? 
ANSWER: the White Rabbit
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What is the third phase of mitosis?

ANSWER: anaphase
1B.
What female British Prime Minister from 1979 to 1990 was recently revealed to be suffering from dementia in her daughter’s memoirs?

ANSWER: Margaret Thatcher
2A.
This European country owns the island of Jan Mayen and the archipelago of Svalbard. What country contains the cities of Trondheim and Bergen? 

ANSWER: Norway
2B.
As of August 2008, the United States has yet to ratify what document adopted in 1997 that is a product of the UN Framework Commission for Climate Change? 


ANSWER: Kyoto Protocol
3A.
Who created the character of Captain Queeg in The Caine Mutiny? 
ANSWER: Herman Wouk
3B.
Henry McCarty was the birth name of this Western outlaw that was shot on July 14, 1881, by Sheriff Patrick Garrett. Who allegedly killed 21 men during his 21 years? 
ANSWER: Billy the Kid
4A.
Formerly listed as "A Mark Zuckerburg production", in 2008 US and Canadian users of what website found a popular third-party application disabled following a suit from Hasbro? 

ANSWER: Facebook 

4B.
This six-letter word starting with ‘D’ refers to taking longer to finish a task than needed or to move aimlessly. What word comes from a variant of a word that refers to a 2 or 3 year old? 

ANSWER: dawdle
5A.
THIS IS A 20-SECOND COMPUTATION QUESTION.  What is the slope of a line parallel to the line –5x minus 35y equals 12?

ANSWER: -1/7
5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  What is the positive square root of 1849?

ANSWER: 43
6A.
The enso is a symbol of what school of Buddhism that practices meditation, asks riddles known as koans, and is popular in Japan? 
ANSWER: Zen Buddhism

6B.
What Roman poet wrote the Aeneid?  

ANSWER: Virgil

7A.
Fonts such as Helvetica are ‘sans’ what features which manifest themselves as extra strokes on the ends of letters and numbers? 

ANSWER: serif(s)
7B.
What chemist is known for his law of partial pressures and for formulating the atomic theory? 

ANSWER: John Dalton
8A.
What is the chemical formula of cyanide?

ANSWER: CN
8B.
What mythological creature was the result of the lust the Queen of Crete had for a beautiful snow-white bull? 

ANSWER: The Minotaur
9A.
Who was the only ruler of France’s Second Republic and France’s Second Empire?

ANSWER: Napoleon III or Louis Napoleon (DO NOT accept or prompt on ‘Napoleon’ by itself) 
9B.
Cost-push and demand-pull are two types of what economic indicator? 

ANSWER: inflation
10A.
THIS IS A 30-SECOND COMPUTATION QUESTION.  In simplest terms, what are the product and the sum of the fractions 1/10, 2/15, and 4/9? 
ANSWER: sum is 61/90, product is 4/675
10B.
THIS IS A 30-SECOND COMPUTATION QUESTION.  What is the area of a hexagon with a side length of 4 times the square root of two over the fourth root of three feet?

ANSWER: 48 square feet
Third period, 15 toss-ups, 10 points each

1.
Rossini said he ‘has wonderful moments and dreadful quarters of an hour.’ Debussy called him ‘that old poisoner.’ On the other hand, thousands flocked to his specially-built concert hall in Bayeruth, and Nietzsche said his music was the ‘Dionysian rebirth of European culture.’ Daniel Barenboim broke Israel’s 63-year informal ban on his works by performing the first act of The Valkyrie, the first opera in what composer’s Ring cycle? 
ANSWER: Richard Wagner
2.
Usually applying to second-period elements, exceptions to it include transition metals, sulfur hexafluoride, nitric oxide, boron trifluoride, and the duet rule of hydrogen and helium.  Name this rule formulated by Gilbert N. Lewis that says atoms form bonds in order to be surrounded by eight valence electrons.

ANSWER: octet rule
3.
While canon law requires doing this only once a year, going more frequently causes believers to ‘be merciful as he is merciful.’ Guilt is removed by undergoing this act or by performing perfect contrition. Acts committed before being baptized, however, need not be mentioned. What Sacrament allows individual Catholics to be free of the guilt of sin once sins are recounted to a priest? 
ANSWER: confession (accept Sacrament of Penance or Reconciliation before said)
4.
He fought the Livonian War for twenty-four years. In 1581, he killed his pregnant daughter-in-law and then accidentally killed his son. Three separate people claimed to be his youngest son, contributing to the ‘Time of Troubles’ that followed his death. He also ordered the Massacre of Novgorod after a dispute with that city. He may have been poisoned by his advisers Bogdan Belsky and Boris Godunov. Who was the first prince of Moscow to call himself ‘Tsar’? 

ANSWER: Ivan the Terrible or Ivan IV
5.
Thomas Aldrich condemned her ‘grotesque fancy’ and the ‘incoherence and formlessness of her versicles.’ She wrote Thomas Higginson for several years. Scholars of her correspondence are also interested in her three letters addressed to a man she called ‘Master’ and several letters written to her sister in law, Susan Gilbert. The Springfield Republican published a dozen of her poems, but the entire collection was discovered by her sister Vinnie after her 1886 death. The ‘Belle of Amherst’ was what reclusive poet? 

ANSWER: Emily Dickinson
6.
According to the Riemann conjecture, it is the real part of all zeros of zeta of s.  It is a constant that appears in the formula for the area of a triangle.  Name this fraction that is the reduced form of 6729/13,458 or 15/30 and in decimal form is equal to .5.

ANSWER: one-half
7.
The 10th century Suda said he wrote 120 plays, but only seven survive today. He was the first playwright to write scenes with three characters. In 2005, Oxford researchers discovered three lines from his play The Progeny. About half his satyr play The Tracking Satyrs survives. He wrote three plays about Oedipus: Antigone, Oedipus at Colonus, and Oedipus Rex. What Greek playwright won 24 dramatic awards, more than Aeschylus and Euripides combined?  

ANSWER: Sophocles
8.
This country’s leader was recently described as “a political corpse” and accused of genocide. Its leader countered by filing a case at the Hague charging the accusing nation, this country’s northern neighbor, with incidents of ethnic cleansing dating back to 1993. What is this former Soviet socialist republic with capital T’blisi that, in August 2008, saw the invasion of its regions Abkhazia and South Ossetia by Russia?


ANSWER: Georgia
9.
It exists between carbon and nitrogen in hydrogen cyanide, in a divalent nitrogen molecule, and in between the carbon atoms in acetylene.  They are shorter and more stable than single and even double bonds.  Name this type of multi-electron pair covalent bond that consists of one sigma bond and two pi bonds.

ANSWER: triple bond (prompt on covalent bond or multiple bond)

10.
He defeated the Parthian-backed Antigonus and installed Herod the Great as king of Judaea. His actions as Master of the Horse earned the opposition of Cicero, but his reading of Caesar’s will turned the people against Brutus’ faction. His power was broken at the battle of Actium, when he was defeated by Octavian, who then became Augustus. Who committed suicide after hearing a false rumor of the death of his lover, Cleopatra? 

ANSWER: Mark Antony or Marcus Antonius
11.
Henry Louis Gates said of this work, ‘(It) is a work of the imagination rather than strict historical scholarship.’ Its author admitted plagiarizing large sections from Harold Courlander’s The African. Genealogist Elizabeth Mills demonstrated that its protagonist had been in America in 1762, five years before his literary arrival. In this work, a young Mandinke is captured from his Gambian village and sold into slavery. Kunta Kinte is the protagonist of what work by Alex Haley? 
ANSWER: Roots: The Saga of an American Family
12.
A new design of this shoe claims to be ‘inspired by The Who.’ They were first made in 1917, and were first sold by their namesake in 1921. They originally came in black and white; additional colors were added in 1966. Over 500 million pairs have been sold, each of which bear its namesake’s signature on the ankle patch. What are these canvas and rubber basketball shoes made by Converse? 

ANSWER: Chuck Taylor All-Stars (accept Chuck(s) or Chuck Taylor(s))

13.
This word originated in 1529 as the abbreviation of a card game. When paired with ‘up,’ this five-letter word means to embellish or fabricate a charge. By the end of the 16th century, it became a verb meaning ‘to surpass’ or to bring in higher-ranking resources to solve a problem. What name is shared by the highest-ranking suit in a hand of bridge and by a real estate investor named Donald? 

ANSWER: trump
14.
The water mold Phytophthora ramorum, the gall wasp, and the gypsy moth are its frequent pests.  They are poisonous to horses and types of them include Hungarian, Andean, Portuguese, Arkansas, Georgia, ring-cupped, red, and white.  Name this type of tree of the genus Quercus that produces acorns.

ANSWER: oak
15.
His two attempts to make the Northeast Passage in 1607 and 1608 went only as far as Novaya Zemlya. Hearing about a Southwest Passage from John Smith, he sailed around the mid-Atlantic in 1609. His last voyage saw him winter in northern Canada in search of the Northwest Passage. In the summer of 1611, his crew mutinied against him – leaving him stranded on a small boat. He was never seen again. Who is the namesake of a river that empties in New York Harbor and a bay that splits Canada into two? 

ANSWER: Henry Hudson
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
The title character used romances such as Tirant lo Blanch, Amadis de Gaula, and Orlando Furioso as inspiration. His first adventure is stopped by his niece, housekeeper, barber, and priest. His second adventure does not end as well, as he reveals his real name, Alonso Quixano, and dies a sane but broken man. A horse named Rocinante, a maiden named Dulcinea, and a squire named Sancho Panza also appear. In what classic by Miguel de Cervantes does the title character tilt after windmills? 

ANSWER: Don Quixote

2.
This government form’s name comes from young Athenian citizens who led Greek armies from the front lines – symbolizing their virtue. The Polish-Lithuanian Commonwealth somehow managed to combine this form of government with democracy. It is often confused with oligarchy and usually co-exists with monarchy. Greek words meaning ‘the rule of the best’ are the origin of the name of what government form, where power is held by a hereditary elite? 

ANSWER: aristocracy
3.
Characters in this work include the armsmaker Cephalus and the sophist Thrasymachus (thrah-SEE-mah-kus). Its prologue attempts to define justice, and its epilogue delves into topics such as the ‘rewards of justice in life’ and the ‘judgment of the dead.’ Its last chapters criticize four forms of government that are unsustainable: timocracy, oligarchy, democracy, and tyranny. The allegory of the cave is used to justify rule by philosopher-kings. What is this Plato work about the ideal governemnt? 

ANSWER: The Republic
4.
His magnetism law states that the integral B dot dA equals zero.  Like Isaac Newton, he has a law for gravity.  Mikhail Ostrogradsky and him are the namesakes of the divergence theorem.  His electric flux law states that the electric flux through a surface S is equal to the electric charge of the volume over the electric constant.  Name these laws named after a German physicist/mathematician.

ANSWER: Carl Gauss’ laws

5.
THIS IS A 10-SECOND COMPUTATION QUESTION.  What is the mean of the following numbers:  14, 96, 23, 67, 32, 28, 61, and 79, given that the mean of these eight numbers is equal to the sum divided by the number of terms?

ANSWER: 50
All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

